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1. Exercising is one way to _ weight.

(A) make (B) reduce (C) slow (D) increase
2.1don’t like snakes. In fact, [ hateall .

(A) mammals (B) insects (C) reptiles (D) frogs
3. The air conditioner will turn off when the room is cool.

(A) already (B) automatically  (C) significantly (D) wirelessly
4, We should have 1600 ml of water a day. But don’t drink itall _ @ .

(A) in one sitting  (B) as well (C) over time D) in all
5.He __ working all night to finish the project.

(A) called him names  (B) figured him out  (C) gotrid of him (D) knocked

himself out
6.Afamous  in New York City is the Metropolitan Opera.

(A) location (B) stage (C) attraction (D) souvenir
7. If you are hungry, . Don’t wait for us.

(A) find out (B) dig in (C) dig out (D) turn off
8. Theroomisso . Ireally enjoy sitting and relaxing here.

(A) cozy (B) freezing (C) favorite (D) amazed
9. This document is extremely important, so I have made a

(A) represent (B) possession (C) duplicate - (D) inscription

10. The house has been empty for years. People say itis _____ .
(A) rustling (B) poisoned (C) buried (D) haunted
11. She __ planning for the party as soon as she arrived home.
(A) set about (B) built (C) struck (D) took in
(¥ @A =)
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12. One that humans do not have is the ability to fly.

(A) capability (B) properties (C) cells (D) performance
13. _to fruits and vegetables, chocolate and candy are not healthy foods.

(A) As a means (B) Expanding (C) Comparing (D) In Contrast
14. In Canada, people cannot _____ drive until they are 16 years old.

(A) permissively  (B) accordingly (C) consciously (D) legally
15. It’s been two years since I had my teeth cleaned. 'm = _ a dentist’s ai)pointment.

(A) due for (B) made of (C) giving off (D) essential to

1L CESEIE 16 T 20 B KRB EEAREHIA) BI(EE R EENER
I EFRARREEREL -

After a four-year _(16) project that cost NT$420 million, the public is expected to be
able to see the (17) of the Taipei Guest House in a re-opening ceremony. Building
originally began in 1899 and was completed in 1901. The classic building complex, as well as
its _(18) gardens, is mainly used for functions such as state banquets and receiving visiting
(19) . It was originally used as the official _(20) of the Japanese governor of Taiwan during
the colonial period.

(A) dignitaries (B) residence (C) splendor (D) spacious (E) renovation

I fREriBs © 21 3 30 8 SREHRCERE—EREENER -

The use of cofnputers to intimidate or destroy a population _(21) cyber terrorism.
_(22) with only a hard drive and keyboard, terrorists may be able to take control of the
stock market, alter White House security codes, or even _(23) peoples’ medical records.
(24) makes cyber terrorism so attractive to terrorists is the fact _(25) the internet has no
boundaries. It is easier and _(26) , by far, to access a computer network on the internet
than (27) a country’ border on foot or get _(28) suspicious customs officers in an
airport. There haven’t been any deadly cyber attacks yet, _(29) most experts agree _(30)
cyber terrorists are going to increase the frequency and effectiveness of their attacks in the

years ahead.
21. (A) called (B) being called (C) calls (D) is called
22. (A) Armed (B) Arms (C) Arming (D) Been armed
23. (A) changing (B) changes (C) change (D) have changed
24. (A) That (B) What (&)1 (D) Which
25. (A) that (B) what (C) whether (D) which
26. (A) risky (B) riskier (C) less risky (D) more risky



27. (A) to illegally cross  (B) illegally crossing (C) illegally crossed (D) illegally cross

28. (A) away (B) with (C) off (D) past
29. (A) and (B) however (C) but (D) although
30. (A) that (B) to (C) with (D) on

IV. BREHIER 31 B 40 - HEERRL—EREENEE

How often have you gone to a vending machine to get a bag of chips? What if you
found a pair of live beetles instead? It may sound strange, but a company in Japan sells
large beetles through vending machines. The vending machine company and nature
conservationists disagree about selling beetles this way.

Many schoolchildren collect beetles in Japan. Other people also enjoy this hobby.
However, people are building houses where the beetles live. This destroys the beetles’
home. Now, it is difficult to find the beetles in the wild. Since 1999, the Mirai Seiko
Company has been selling these beetles in vending machines. The company says that it
wants to help people own these rare insects. It also says that it takes good care of the
beetles in the machines. True or not, the machines are very popular. The machines sell
more than 1,500 beetles per month. Sometimes, people buy all the beetles in a machine in
just a few minutes.

On the other hand, conservationists feel that the machines are harmful. Children may
think that living creatures are like soft drinks or boxes of candy. Do you feel that the
vending machines give people a rare experience, or that they give children bad ideas?
Either way, they show how clever people can be.

31. What is another good title for this reading?

(A) Expensive Beetles in Japan. (B) Unusual Vending Machines.
(C) Japanese Beetles. (D) Japanese Children’s Hobbies.
32. Who likes to collect beetles as pets?
(A) Mirai Seiko. (B) Many people in Japan.
(C) Only Japanese schoolchildren. (D) Conservationists.
33. Why is it hard to find beetles in the wild?
(A) They are too fast. (B) They live underground.
(C) Their homes are disappearing. (D) They die very easily.
34. How quickly do the beetles sell out?
(A) Within a couple of days. (B) Within hours.
(C) Within a month. (D) Within minutes.

35. Why do conservationist dislike the beetle vending machines?
(A) People learn the wrong way of thinking. (B) The beetles are too expensive.
(C) No one wants the beetles. (D) The beetles don’t get food.



You probably have seen one or both of the Jurassic Park movies that were very popular
a few years ago. And like so many people, maybe you were fascinated by the idea in the
movie that it might be possible one day to use the DNA found in a preserved dinosaur
fossil to bring the dinosaurs back to life.

While the story of Jurassic Park was fictional, it was based on fact. Dinosaur fossils do
exist in the crust of the earth. Scientists were very excited a few years ago to uncover a
nest of dinosaur eggs that had lain buried for millions of years deep underground in the
pasturelands of Mongolia. Experiments are now being performed to extract DNA from
these eggs. The DNA may help scientists understand more about the physical
characteristics of dinosaurs, their evolutionary history, and why they disappeared from the
earth.

If the DNA is in good condition, the scientists might then take their experiments a step
further. They might extract the DNA from the cell of the dinosaur, hollow out the nucleus
of the egg of an unrelated species, then implant the resulting egg in the womb of a
substitute mother. Would it develop into life? And what form would that life resemble? Is
it conceivable that dinosaurs might roam the earth again? Stay tuned. Jurassic Park---
Part 3 may yet turn out to be a true story.

36. In Jurassic Park, what is the source of the dinosaur DNA?

(A) Dead dinosaurs. (B) A large reptile.
(C) A preserved fossil. (D) Abird’s egg.
37. Where are fossils found?
(A) In trees. (B) In the sky. (C) In animals. (D) In the earth.
38. According to the passage, where was a nest of dinosaur eggs recently discovered?
(A) Near the North Pole. (B) In Africa.
(C) On the ocean floor. (D) In Asia.

39. Which is not mentioned as something that might be learned from studying the
dinosaur eggs?
(A) The history of their development.  (B) Why they became extinct.
(C) What they looked like. (D) How many there were.
40. The conclusion of the article isthat .
(A) more dinosaur eggs will be discovered
(B) it is unlikely dinosaurs will ever exist again
(C) cloning is a bad idea
(D) using DNA to recreate dinosaurs may be possible
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